Functional Skills Level 2 Mock 3 Mark Scheme
Non-Calculator
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Question Process Mark Mark Evidence
Ref
Q2(a) Completes sample space table 1 A correct cells in the table, see solution below.
Q2(b) Accurate figure 1 B i oe
Q2(c) Accurate figure 1 C % oe
Total marks for question | 3
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Correct answer for Q2a
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Question Process Mark Mark Evidence
Ref
Q4 Begins to draw front elevation lor A A rectangle 6 sq lengths by 5 sq lengths OR
20f 15+ 3 (=5), 10.5 + 3 (=3.5),4.5 + 3 (=1.5), 18 + 3 (=6), 7.5 = 3
(=2.5) OR
Pentagon with at least 2 correct sides: 5, 3.5, 4.3, 1.5, 6 sq lengths
and 2 right angles at the base OR
Similar pentagon in incorrect scale
Improves front elevation 2or AB Pentagon with at least 3 correct sides: 5, 3.5, 4.3, 1.5, 6 sq lengths
and 3 right angles OR
Fully correct pentagon in incorrect orientation
Correct front elevation 3 ABC Pentagon with all correct sides: 5, 3.5, 4.3, 1.5, 6 sq lengths and 3
right angles in correct orientation
Total marks for question | 3
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Example of a fully correct answer





image8.png
Question Process Mark ark Evidence
Ref

Process to find area of one face A 2.5%(=6.25)

Full process to find surface area of the 2or AB 6 x2.5°(=37.5)
cube

Accurate figure 3 ABC 375

Total marks for question | 3
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Question

Q9

Process

Begins to work with perimeter

Full process to find figures to compare

Valid decision with accurate figures

Mark

lor

2or

Mark
Ref

AB

Evidence

mx 14 (=43.9..) OR
48— 6 (=42)
Allow use of 3.14 or better for ©

43.9.7 + 6 (=49.9.) OR
7 x 14 (=43.9.) and 48 — 6 (=42) OR
48— °439.° (=4.01..)

No AND 49(.9..) (inches) OR
No AND 43(.9..) and 42 (inches) OR
No AND 4(.01..) (inches for the overlap)

Total marks for question | 3
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Question Process Mark Mark Evidence
Ref
Q10(a) Correct plotting 1 A Plots point (36,29)
Q10(b) Correct line of best fit 1 B Line of best fit placed correctly
See guidance boxes on diagram, line must go in or pass through them
Q10(c) Correct description of correlation 1 C e.g. positive correlation (between age and time) OR
an explanation in context e.g. as you get older it takes you longer to
run the race

Total marks for question | 3
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Question

Process

Process to find total wages before rise

Process to find current mean or begins to
work with percentage

Process to find percentage increase on the
current mean or full process to work with
percentage increase on current wages

Full process to find percentage increase on
the mean or engages with £10 with all
workers

Full process to find new mean

Valid decision with accurate figure

Yes AND (£)418.2(0)

Evidence

320 x 10 +370 x 13 + 420 x 8 + 470 x 7+ 520 x 2 (= 3200 + 4810
+3360 + 3290 + 1040) (= 15700)

e.g. *15700° = 40 (=392.5) OR
*15700° x 4 + 100 (=628)

392.5” x 4+100 (=15.7) OR
‘15700 + ‘628 (=16328) or 15700 x 1.04 (= 16328)

392.5" + “15.7° (=408.2) OR
16328’ + 40 x 10 (=16768)

*16768 + 40 (=418.2) or ‘16328’ + 40 + 10 (=418.2) OR
*408.2° + 10 (=418.2)

Total marks for question
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Question Process Mark | Mark Evidence

Ref
Qs Process to work with average 1 A e.g. 56 identified (median) OR
(52460 + 55+ 59 + 54 + 63 + 56) + 7 (=57)
Begins to work with dimensions 1or B 13600 + 1000(=13.6) or 2400 + 800(=3) OR
13600 + 800(=17) or 2400 + 1000(=2.4)
Full process to find the number of 2 BC ‘137 x ‘37 (=39) OR ‘17" x 2’ (=34)
fridges
Begins to work with load times lor D e.g. ‘56 +24 (=2.33.)) or ‘57" + 24 (=2.375)

Full process to find figures to compare 2or DE e.g. 397 x ©2.33.7 (=91) oe OR
‘397 x ©2.375 (=92.625) OR

90 =39’ (=2.307..) OR

Allow use of ‘34” for ‘39”

Valid decision with accurate figures 3 DEF e.g. No AND 91 (mins) OR
from their correct working No AND 92(.625) (mins) OR
No AND 2.30(7..) and 2.33(3..) (min per fridge)

Total marks for question | 6
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Question

Process
Process to convert to metric

Process to work out area of development

Process to find area of a football pitch

Full process to find figures to compare

Valid decision with accurate figures

e.g. 1600 + 2 (=800)

e.g. 2% 800" x '800' (= 320000) or 0.5 x 0.5 + 2 (=0.125)
2

100 x 50 (=5000) oe

e.g. 50 x '5000' (=250000) OR
'320000' = '5000' (=64)

Yes AND 320000 (m>) and 250000 (m?)
Yes AND 64

Valid check

e.g. '250000' + 50 = 5000 and '320000' + 800 = 4000

Total marks for question
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Question

Q9

Skills
Standard

R2

A4

17

A5

Process

Begins to work with ratio

Full process to find figures to
compare

Valid decision with accurate figures

Valid check

Mark

lor

2or

Mark
Grid

NP

NPQ

R

Evidence

178 +45(=3.95..) OR
8+2(=4) OR

4:90 seen or implied OR
45+2(=22.5)OR

178 + 8 (=22.25)

3.95.7 x 2 (=7.91..) OR

178 + 45 (=3.95..) and 8 + 2 (=4) OR
8:180 seen or implied OR

‘4’ x 45 (=180) OR

45+2(=22.5) and 178 + 8 (=22.25)

Yes AND 7.9(1..) OR
Yes AND 3.95 and 4 OR
Yes AND 180 OR

Yes AND 22.5 and 22.25

Valid check, e.g. reverse calculation or alternative method

Total marks for question | 4
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Question Process Mark Mark Evidence
Ref
Q1(a) Process to find the median lor A eg (2+-9)+2(=-55)
Writes a comparative statement 2 AB e.g. —5.5 and the median value for set B is smaller than set A.
Q1(b) Valid check for the median 1 C eg ‘—55 x2=-1land 2+-9=-11
Total marks for question | 3




